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# R CO: 2 fr H = (g-C/#® * km)
(km/hr) | F@ F4 | JAFY | BiR%
5 326. 89 145. 50 861. 20
10 229. 34 91. 09 639. 13
=5 194. 89 12.776 501. 71
VA7 164. 67 57. 96 461. 37
40 145. 20 49. 83 387. 39
60 134. 51 46. 39 333. 69
70 132. 68 46.12 319. 69

NO« £t 2 i H =

@R | NOEe R E i (g/d - km)
Gn/hr) | 30 4 [ TG+ [ Fz
6 6. 98 1. 11 8.22
10 4. 90 0.79 6. 25
15 4.12 0.68 5. 45
25 3.37 0. 56 4.54
40 2.778 0. 47 3. 61
60 2. 32 0. 39 2. 58
70 2.16 0.34 2.10
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Grdg £ R (DWT) | CO22c 8 R H - (o-C/40 ] pF)
1000 0. 21
3000 0. 24
5000 0.33
10000 0.50
30000 0. 99
50000 1.35
70000 1. 66
90000 1. 94
120000 2.32
150000 2. 66

AP iEE NG ERE =

Grdg £ R (DWT) | NOJH2c 8 B 8 - (#g/40 - | pF)
1000 0. 007
3000 0.016
5000 0. 023
10000 0. 039
30000 0. 088
50000 0. 128
70000 0. 165
90000 0.198
120000 0246
150000 0. 290
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